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goo
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n
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r1+r2
umwm({xzzizxmiEwa|—¥U2§xi§1ﬂ}>::1

i=1

ri+ro—1
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wro(T%) = /n2 "Ry

ooOo.ooo
o, /10 do, log o1 (1) e o, 10g |01 (Ery4rp-1))]
RF — |det d02’/n daz lOg '|0-2 (51)| ’ d0'2 10g |02'<€7’1+T2—1)|
dml+r2 /n d0r1+r2 log |0y 7y (e1)| <+ d0r1+r2 108 |07y 47y (Ery4ra—1)]

O F O regulator000 . €1, 614, €O 0000000O0O0.

b Divpe, UOOGOO0OO

1
fi:—aia (izla"'arl—i_rZ)

.,
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r1+r2

pd(e;) = — Z Vo, log(|oi(e;)) f, (=1 ri+r—1)

goo. oo )
r1TTr2 /
%1Div: ; \;f—;nfi
ooo
wTo(TO)

Vs, [ \/do, log |oi(e1)| Vo, log o1 (e, ry-1)]
V dUz/n V dUQ log ’02(81)‘ o V d02 log ’U2<€T1+T2—1)’

\/ d0r1+r2 /n V d0r1+r2 log ‘UT1+T2 (51)‘ Y d0r1+r2 log ‘07“1+7‘2 (€T1+T2*1>’
= /n2 "R
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Pick 000 wpieg O
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goooo.
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goo.
00 a€id(D) O shortest 0 O

lallp = min{|[z||p | = € id(D) — {0}}

goooo.
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gao.

Lemma 9 OO OOOO.
(1) M(D) O O0*-00.
(2) Mg(D) € M(D).
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00 (1) aeM(D), ec©*000. eag M(D) OO0, 00 0z €idD)
ooooo
o(z)] < lo(ea)] (Yo € Vi)

000.0000 e'zeid(D) O
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11]]p = v/nNr(a)"/
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h(D) = (id(D),up),  h(D') = (z5"id(D), Nr(zo)"/"Nr(id(D)) /")
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n \/5 (7“1 + o — 1)'

_ \/ﬁ 1 r1+ro—1
~ Sy (o (Ne(@)0r)

ggn

Wiy, (EOD) = (

di(a) € Redp 000 Nr(a) < 1. 000

< vn 1

= 9rg/2 (7.1 + 7y — 1)

wong, (55) - (log(9))" 7!

goooo

.0 \/ﬁ ri+re—1
wPiC% (PICF> é 21“2/2 (Tl + ry — 1)‘ (10g aF) Lt ﬁ(RedF)
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ggob.booooobo

{+1} (0 € Vr)
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0000 Redp 0000 D =div(a,Nr(a)"¥/")00000. 00
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ogooooo
exp(div(a, Nr(a)~/")) = div*(a, Nr(a) /™)
ogoo.ooo .
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Lemma 10 00000 Divy — Picy 000 Red, 0000 Piep 000,
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ogod.ogog
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